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BA-12 (Bachelor of Art)
Home Science

First Year Examination-2014

BAHS-101/HS-101/HS-151

Family Resource Management
(aRER ETaT TS )

Time Allowed : Three Hours

Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into
three (03) sections. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given
therein.

I : I UIT-UT WIS (60) Akl T & S AT (03) WSl
T famfaa 21 forenfdar = &7 @el §f fau @
faega fden o AR &t Ul i & T B
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Section - A / @E-&
(Long Answer Type Questions)/( &= I AT U9 )

Note : Section 'A' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners
are required to answer any two (02) questions
only. (2x15=30)

e : s ‘F' § 9N (04) <E I arel w9 U E,
Tk W9 o foT ugg oiek frerifta € | gl
I TH W HaAe o UFH h ST AT © |

1. Define planning. Explain the importance and types
of planning.

ST 1 TR TSR | FST & A T8 YR &
fovr o ww=sY |

2. Write the classification of resources. Explain the

characteristics of rescurces and objectives of use of

resources.
WMl 1 ofieRol fofed | neml w1 faeivand qen
el & SN % 32T b v H wmensd |

3. Explain the stages of decision making process.
Write about any four factors which affect decision

making,

fofa wfwen & <ol & foawa o wwgmsa | foim
Yk &l gIfad & ael ffl R SR &
fawg o fafed |
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4. Explain in detail rights and responsibilities of a
consumer.

IqAIRT % SHER wE I & fawa o
forearyees wmemss |
Section - B / @3-@
(Short Answer Type Questions) (T I a1 W9 )

Note : Section 'B' contains ¢ight (08) short-answer-type
questions of five (05) marks each. Learners are
required to answer any four (04) questions
only. (4%5=20)

Az : @S @' H 33 (08) 7Y I aTer wH fauw M@,
! STH | hael WX Tl o S § |
1. What are the characteristics of values. Give the

classification of values.

2. What do you understand by standards. Differentiate
between conventional and flexible standards.
TR Y MY F GHIA T ? IO TS G &)
T R T Hifsd |

3. What is investment. Write the benefits and types of
investment.

fafrm = ¢ 2 o= @ oY @ yeR & foaw
T fafed |
689/604/370 3 PTO



What are the stages of family life cycle. Discuss
the demand of money as a resource in different
stages of family life cycle.

qifaTier Sted = &1 &FH-%H 9 o] § |
TiaTfier Sie = it fafy=1 Toeensti o weq %
Y Y o9 HI G H AR i |

Describe any three techniques of work-
simplification.

FE welRr 1 fogl dF fafeml (qeiel) &
fora & wHemEd |

Discuss the imporatnce of life insurance. Write
about different types of life insurance.

ST 91 s He i oHoEell hitsd | S ST
fohm WK 1 BT © ?

What factors should be considered while selecting
a site for house construction ?

e & T fiave & ==F ° fof a2 6t e
o e =fed ?

Write about the importance of home management.
What are the obstacles in improvement of
management.

T AN & Te & foud ¥ fafed | e
QUR § - G Trd g § 2
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Section - C /7 @8-

(Objective Type Questions) / ( TS W)

Note : Section 'C' contaiis ten (10) objective-type
questions of one (01) mark each. All the questions
of this section are compulsory. (10x1=10)

AT . T T H @ (10) TS wA fiw T
T U @ o ues 3tk fuifia & 1 3@ E@T
& |t wea aferd ¥

Write true/false for the following statements.

Trefafea aey & fag w@/m@ fatad |

1. Controlling is to arrange things in orderly manner.
e oegel ol HUas ©9 Y eFafed e |
2. Current account is 1seful for Ordinary man and

House wives.
3

3. For Bearer cheque it is the responsibility of the bank
to provide payment to the same person as mentioned
in the cheque.

dE =% § deh h Jg ST B Wl ¢ o ae
< I A I Al H R T A w1 o
2
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P.F.A. act was passed in the year 1954.
WUE. U A oy 1954 | aiika fekam @ |

Producing vegetables in kitchen garden is an
example of Direct Income,

W 3T W gfsaal 1 TR HET ToI& AT
I #

Choose correct alternative.

e faeheq &1 <A g |

6.

Goods available after exchange of money is an
example of:

(a) Money income
(b) Direct income

(c) Indirect income

(d) Both (a) and (b)

(9) 9aY 3™ &
() <A (37) q&;q () AT

Which of the following is a secondry colour :
(a) Red (b) Green
(c) Red-orange (d) All these above
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Frafefaa o @ F fadts 1 @ |

(s1) @ (€) =0
(9) <a-ART (3) I gt
8. Insured person does not receive any financial benefit

from insurance company during his life span in
which of the following types of insurance :

(a) Endowment Insurance

(b) Special Endowment scheme

(c) Whole Life insurance

(d) All these

fefafen ¥ 9 fF9 g&R & Sfed sftw + dfifaa
o @ S e § A E g e
aTifefeh o i = ©

(31)  w=E&i i () foemw s
(9)  esiiad s (3) e q+

9. Which of the following is an example of human
resource :
(a) Time
(b) Goods
(c) Community facilities
(d) Money
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frefafad o 9 9 AT YT 1 I8 § |

g

(s1) wHg (%) o=
(W) wrgEfeE gfaad (3) e\
10.  In ordinary circumstances which among the

following type of investment offers maximum
return :

(a) Nationalised Banks

(b) Post Office

(©) Private Company Shares

(d) Insurance

g=ra: ffafea 5 9 fvg ger & faf=m g
SAfereham o T g € |

(1) THW Ih

(F) TN

(@) oot wwafml & i o
(x)
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